Dr. Mangesh

MBBS, MD.



OPD Prescription

UHID No.

: 3019

Patient Name : Tannu Kumari

Address

: Harpurbeni, Rupauli, Muz.

B.P.

Pulse:

OPD No.

: 1457

Date

: 01/12/2024

Age / Sex

: 06 days/ F

Temp:

Weight:

Satyam Super Speciality Hospital

Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar Email: satyam_hospital@yahoo.com

Mob.

Attn: Mission Heal

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3019

OPD NO. 1457

DATE:- 01/12/2024

PROFORMA	INVOICE/	FUND	REQUISITION	REPORT
Control of the contro			- A PLANT OF THE PARTY OF THE P	A STATE OF THE PARTY OF THE PAR

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Opp. Satyam Paramedical College And Research

Maripur, Muzaffarpur, - 842001, Bihar

Patient Name:	Tannu Kumari		
Sex:	Female		
Mother's Name:	Nisha Devi		
Address:	Harpurbeni, Rupauli, Muz.		
Diagnosis:	Child is Experiencing Bacillary dysentery, which is causing diarrhea with blood, stomach cramps, and intestinal infection.		
Date of Admission:	01 st /December /2024		

Overall Analysis: - Tannu Kumari, was brought to the hospital in the morning hours of 01st December 2024 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from extensive bacillary dysentery, shigellosis caused by the bacteria of the genus shigella. It has resulted in severe stomach cramps and intestinal infection. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. The patient comes from a financially weaker section, Kid's father is a rickshaw puller and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,16,840/- For almost 14 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

	N	Unit	Rate (INR)	Price (INR)
S.No.	Element	14	3500.00	49000.00
1	NICU	14	800.00	11200.00
2	Nursing		1000.00	14000.00
3	Visit	14	5000.00	5000.00
4	Procedure	14	460.00	6440.00
5	Medicine	14	100.00	1400.00
6	RBS	253	100.00	25300.00
7	Oxygen	9	500.00	4500.00
8	Warmer		300.00	1,16,840.00

Mary Jan

भेवा में मिन्नाम हिल

महावाभ, नम् निवेदन ही की मेरी बोदी तन्तु अगारी जा की अली मात्र ०६ दीन की ही है, जो जीतर वीमारी हो जुझ रही है, जो की ब्रम्का जन्मजात है। श्रीकरर का कहना है की अमकी खून के लाजा करत ही रहा है पेट में छेंडन और क्रांत में अन्मेकसम भरा ही भारत ही और भी दिस्कत है। डॉक्टर का कहना है की असका इसाज जलक भे अल्य ब्रायन करना होगा मही तो वसका बचना मुस्तिल है। डॉक्टर के बगना है की क्लो 3 Pero 2010 8 1,16,8401- A 4-6 31100A ब्रेरीर लागामा प्रदीन तक का समय लागेगा । अस्येत अरीवी एवं लायारी भी जुड़ा रहे परिवाद के लिए व्यत्ना बरा १ वम कहा ते हो पाएगा। में और मेरे पति थीना नाम करते ही मेरे पति रिक्क्षा पहाते. हें और में अपने धर का देखमाल करते हैं। ऐसे में वेल्ना बरा र्यम यहा से ला पाइंग्नी

मतः अगीमान में भेरी नीम निवेदन हैं की मोरी आसीक एवं देनीनाम कियों को देखते हुए मेरी आसीक भदद करने का कुणा कर करे हमने लिए में के श्रीमान का भदा अनामी एहूँगी।

Olympia -

अपका विभावार्

